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Lleno4ku
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Haudume npumepsbi €
oOJUHaKoebIMU omeemamu

33X 5x 6 100-85| 60:4
75-60 5x3 12+3 10x5
45: 3 3x7 75:5

6x7 8x2 5x5




[lomo2ume eepHymb 3HaKU
400 4=10 ® ®
15 ©5=20 () o
16 © 46=62 () ®
O O
O

45 O3 =15

480 45=93 O

754 =90
17 83=100
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[lomo2ume eepHymb 3HaKU +

40--4=10 < ==
15 <-5=20
16 - 46=62

+ 23
L] +
45 -3=15 == X
48--45=93 — =2

754 =90
ledana35100




Haudume 3Ha4YeHuUst

ebipakeHuu
63:7*9-11*7+32:4+64:4=

81:9%*3-27:9+36:9+16:4= 37

* " 72:8*4-54:6+16:8 +45= 74
i L]\




3anoJiIHUme OKOWKU:
44 :5=[ |[(ocT !) 6:7 =1 (OCT_
)
5:4 = {ocT. ) 69:9= (ocT
)
99:6= (ocT. ) 78:8= (OCT.
/) 0= (ocT. ) 38:12= (ocCT
Qi Iﬁ‘— . . I'IToosepLa .
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3anosiHUMe OKoOWKuU:

44 :5=8 (0ocT.4) 6:7=0(0OCT.H6
)

5:4=1(oCcT.1) 69:9=7(0OCT.6
)

) 3
/83»@= 4(ocT.3) 38:12=3 (Oﬁ
e ey
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